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2N DSHTD
E: CADS BHSHASLDS/HELS - 2RSIIE)
Sl CADSAY(CADEALSEE) (e &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
202 Ot 2,880 2,880 0
01 2UhoiHl 2,880 2,880 0
OZARSAY SRFZ0fH|
60, 000! *42 x4 x33] 2,880
203 REWY| 2,000 2,000 0
03 AIRZQR =Y 2,000 2,000 0
OZARSAY SRFFH| 2,000,000%! 2,000
01 YrBA2 16,928 16,928 0
IEPEETETENE! 6.428 6,428 0
ozo22ad 6,428
123 83,0002 +2 122 2,112
D 2,000 +22x222 * 128 1,056
L] 5,00021 %23 %222 + 122 2,640
-Il= | 140,0002 224 %23 560
-~ gmE 15,0002 2% 22 60
10 BAAHIRAS 10,500 10,500 0
ONSZASH BAXE Z4
7,000 %50 *50 £ 1l +63] 10,500
401 AlAHIL 20| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
ONSRLTLS B4R N2 75
10,000, 00024 14! 0,000
HERSESY 464,347 443,312 21,035
101 2121t 65, 169 48,640 16,509
04 JIAH2E2RNS24 65, 169 48,640 6,529
OAUHA S2F SATHI(LN2IFE) 47,049
-9l 35,2902 +82 1502 42,348
AR DRSS 42,348,00020%11. 1% 4,701
OHASZHE o) ¥ SJTHI (=L Xt2
=) 18,120
LT 200, 00021 #1287 16,800
-2 o 2O 110,000 122 1,320
201 Y2 32,950 28,390 4,560
01 ArR2lt] 32,950 28,390 4,560
O1. Lut4gH| 13,000
SHEHEAY)SSE LHE ZY Y HE
50,0002 % 1007H 2 5,000
SAUHA H2E sHE M
5,00021 +160CH *5 3 4,000
AU A 2HHLRVS] SI9MR RO
5,000 +755 *43] 1,500




SN DEHF D
Hal: CARS 2HSHSELDE/HEDS - SRSIIEH
Sl CARSAS(TARSALSESN) (B9 @e
_ _ Muo
A -3 2 (SH) - NRA 4= Off &F K Ofl At ot Hws2
ANUHAZSZS S LeragH|
2,500,000 2,500
03.29+9 2,480
AU A SYHASIRE B2
70,000 %62 *43] 1,680
SAUHA 22BAR BEDS ALY
200,000 *43] 800
O5. 22| 4,270
-HEDSSY PRI ORA2LK B4
7,000 ¥5% %102 B3] 2,800
“HAZBAIAH(BIS) BE ORIZLX S4
7,000 +3% #1022 73] 1,470
06.2 %2 13,200
~HOIE AL A BSHE SXIYRH912)
1,000,0002! 122 12,000
-RES AUBA SIRX S XY IH47)
10,0002 122 1,200
202 01t 3,780 3,780 0
01 =Uoit] 3,780 3,780 0
OMNUIHAZ S 2L =T 0|
60,0009 ¥3% *32 #53] 2,700
OHATSAIAL(BIS) 75 YREX 0L
60,0002 3% *32 23| 1,080
207 SRl 20,000 20,000 0
01 AREet| 20,000 20,000 0
ONUHABESD N2NE ME B
0,000, 0002 * 14! 20,000
401 AISHIL L] 342,448 342,502 ~54
01 Al&t| 340,000 340,000 0
SY™ 23 L "y 325,000
-RMHBBH 10,000,000 +307H 2 300,000
—PHBAR 500, 0002 *50H A 25,000
OHAZ &X 1,500,000 %1074 & 15,000
03 Al& =0t 2,448 2,502 A4
OB &3 A&
340,000,00024%0.72/ 100 2,448
ENEE 56,220 103,440 ~47,220
201 Yereot| 11,720 8,520 3,200
01 AL 22/t 11,720 8,520 3,200
O1.ger+gH| 9,200
-~ AIQHEDIOIE RIR 2,500 %2, 0005 5,000
Al DEYEA JIESSH 1,200,0008 1,200
e Al SHEAl AEIH R
1,500% 2,000 3,000
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SN DSBID
Yo CADE BHH(ASLDE/HEDS - 2RSIIE)
Sol: CAIRSAL(SADSAYSEE) (crel @
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
O5.2 2l 2,520
—HAILREE OFA22X SA
7,002 +3% <102 *123] 2,520
202 01t 3,600 3,600 0
01 2Uo1Hl 3,600 3,600 0
OEAl HREZX0Hl 60,0008 «3% 52 43| 3,600
307 SI2t0IH 36,900 88,320 A51,420
02 SIAH AT 18,900 69,720 150,820
ORSHH SAX HASXX 28t
1,500,000% * 18 +70/ 100 18,900
04 QIZHSANE X 8,000 18,600 600
OHQISAl 24BAR MSMHE 18,000,000 8,000
401 Al HIL2OHY] 4,000 3,000 1,000
01 A& 4,000 3,000 1,000
OSBEZTY O Y24 24
1,000, 0002 +47H A 4,000
steesae 11,622 10,390 1,232
201 Lere gl 8,382 7,150 1,232
01 At2z2l| 8,382 7,150 1,232
O1.2er+gH| 4,000
-ARI SRS RIBR A EH 4,000,0008 4,000
03.294+y 350
-sleesud 4 DoRaAClRE &
g 70,0008 +5% 350
O5.2 2l 4,032
SHMERICS OFA22K SA
7.0002! 42 122 *123] 4,032
202 01t 3,240 3,240 0
01 201 3,240 3,240 0
OHSNSH 25 Y2ET 0|
60,0002 <32 +32 +63] 3,240
DAL 1,505,874 1,516,572 £10,698
201 Yer29y| 91,050 72,000 19,050
01 At 2l 26,250 21,120 5,130
O1.2er+gH| 24,500
“DEASAL HIAHBAN +48 20,000
G2 10,000,00084 10,000
CETY 10,000,000 10,000
-CCTV ®IIQHM2AAL 8 50,0002 «90JH A 4,500
O5.2 2l 1,750
-DEANAINE HREX ORAI22R Z4
7,0002 +52 x52! 103 1,750




SN DESHD
HH: TANE B4 (X NS/HELS - ERSIIE)
tel: SANSMS(SARSMASESSIA) (ehel: =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
02 =234l 64,800 50,880 13,920
O1. 232 A 64,800
-CCTV #IIR3 20,000 *90H A +12& 21,600
-CCTV 3l &AE= 40,0002 *90 A +12& 43,200
401 Al&HI LS OHYI 1,414,824 1,444,572 A29,748
01 Al&H| 1,410,000 1,440,000 230,000
OusSHEAIdE X & X2 800,000
-g 2t 400,000,000& *14! 400,000
-S 12U 400,000,000& * 14! 400,000
OkHdg8 0|EE2 E4 80,000
-2 20,000,000& 225 40,000
-ST2U 20,000,000& x22 2 40,000
OXp M 100,000, 000& » 14 100,000
Odtlss &xX 140,000
g2ty 70,000,000 * 14 A& 70,000
-=S 22U 70,000,000 * 14 2 70,000
OZEs &X 20,000
-2 5,000, 000& 24 2 10,000
-S2U 5,000, 000& 24 A 10,000
QusEXE & 60,000
—g 2L 30,000,000& 30,000
-=S 22U 30,000,000& 30,000
OAlZZEohel SedlsI &
1,000,000 * 1090 & 10,000
Obtlss 82 XS3HALY 20,000,000 200 £ 40,000
Ok &= dsI] &X 2,500,000 44 2~ 10,000
OuSHSAE 272
100,000, 000& * 14 100,000
OusgEXe 2K XE22 20,000,000 14 20,000
OFXtE720 =X & EXE FZH| 20,000
-2 10,000,000& = 14! 10,000
-=S2U 10,000,000& * 14! 10,000
QuSHHAILAS JtZAH HHISA
2,000, 000& *5I4 2 10,000
03 AIZR0bl 4,824 4,572 252
OuSAEMHEAM AIE2UYI
1,340,000,000& *0.36/100 4,824
WSMIRSRINEAISE (BEX) 402,880 304,175 98,705
& 200,000
Al 202,880
401 Al&HI LS04I 402,880 304,175 98,705
= 200,000
Al 202,880




SN

nEH
Mo CANE BH5H+SLDNE/HEDE - 22 EIIE)
CHol: CAIDEANY(CADSALSSSH) LR
_ _ SIEN
2N -3 - c2(3H) - NEME - HES Ol & 'oﬂ/'\_WH HunsZ
01 Al&H] 400,000 302,000 98,000
ONSEADESR MAAY  400,000,0002 *14] 400,000
2 200,000
Al 200,000
03 Al& =0 2,880 2,175 705
OREADFSR HAAY AlES0HY
400,000,000 *0.72/100 2,880
YENEEEE I SICES 992,212 1,006,300 A 14,088
2 493,000
Al 499,212
401 AlZHIL S THYI 992,212 1,006,300 A 14,088
2 493,000
Al 499,212
01 Al&H] 986,000 1,000,000 A 14,000
OOIRI0IE5 R A ALY 380,000,0008 *14] 380,000
2 190,000
Al 190,000
OORIOIEEE $I8 CCTVAR Al
606,000,0002 *14! 606,000
z 303,000
Al 303,000
03 AlZ=20| 6,212 6,300 88
O0RI0IES 2 HAAY Al
986,000,0002 *0.63/100 6,212
THExt2el 40,398 39,730 668
201 Y29y 35.838 35,170 668
01 AR 22l 31,688 33,420 A1,732
O1.g8t2H| 29,000
—2CH IR R 2l 26,000
Zoly| 8 50,0002 *30CH * 12 18,000
TZOID AEIH ¥ BEEE HE
300! *6, 0000 x23] 3,600
HIZ EDHE 24| 2,000,000 2,000
SXIKH2 WA ADE g
200,000 * 122 2,400
SMHEMBLAANY HBNE L SSOHUA R
ol 3,000,000 3,000
05.22H| 2,688
NEXE YREX OFA2EX 24
7,00021 424 82 123 2,688
02 Zz29| 4,150 1,750 2,400
O1.ZZ22LH A 1,750
—SRIXE RBR(SI]) 1,750 %1,0002! 1,750
O3. A& FHI S XYl 2,400




SN

.
A% EADE BES(+SLDE/HERE - SRSIIE)
Gl TALNSAS(TAIDSALEESA) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-NSAt2elALg & arE ] = X2l
200,000 x12& 2,400
202 01| 4,560 4,560 0
01 =UH0iHI 4,560 4,560 0
OSEAHARE A2EX0HY|
60,0003 «2EH 22 x102 2,400
OXtSxtelAtY & SHXE R0
60,000 x3& x4 32 2,160
WEZEHH=2ZS 738,894 505,062 233,832
201 LEt=gH| 194,974 127,842 67,132
01 AtR2telH] 6,472 4,120 2,352
O1.¢e=2H| 2,440
-ISHEBHE 29 =24 1,000,000& 1,000
-ZEH A2F 7Y 170,000& 271 32 1,020
—EUIRANAE =2 35,000& 123 420
O5.= &l 4,032
—USEBHE OFRIZRNT =4
7,0003 4B x 12 x123] 4,032
02 3323l 188,502 123,722 64,780
O1. 232 Al 185,472
-H3e= 120,000& x12& 1,440
-HIIReRs 1,500,000 x12& 18,000
&t A EE 36,000& 123 432
-HE3H ME= 165,600
AS MO 25,0003 *3302| &+ 123 99,000
nsd2 150,000 «72| & 12 12,600
* CCTV 300,000& «153| 6«12 54,000
O2. 82l 1,100
—USEENE HEH S
1, 1003 +100Z *10Al 2t+1CH 1,100
O3. A& ZHIR XY 1,930
-USEENE A== X4
3,248 594 m" x1J & 1,930
202 O 3,600 2,700 900
01 =LHAOYI 3,600 2,700 900
OusSdEdH HRFL0HI
60,000 »4 & »3 «53] 3,600
206 M=l 8,900 7,900 1,000
01 X2 H 8,900 7,900 1,000
ONSAET DPET 7 1,500,0008! *44 6,000
ORSASE IIITEH 2 150,0008 =67 900
ONEFLME MY 2E 7Y
2,000,000& =14 2,000
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SA: DSEID
U CADS BHSH(FSUDE/WEDE - 2RSIIE)
ol TADEA (SADEMSSESI) CERED
_ _ SIEN
RA B SA(BH) - NRAY - B Ofl &t o4 0l b o8 HRS2
207 PN 2] 200,000 0 200,000
01 g o] 200,000 0 200,000
OXNSHERSAAB(T)RSI2HH+E 2
200,000, 0002 * 14} 200,000
401 A&HIZ S O] 331,420 366,620 A35,200
01 A= 329,050 363,500 34,450
ORSI2UEH H ¢ | 210,000
~DEHOIAIAE 14,000,000 » 128 168,000
-CCTV & LEDE X B 3,500, 0008122 42,000
ORSH2BUE HIAL 93,200
SMY XN A 1,200,000 «7000H 3% 25,200
—XFANI B4 3,000, 0002 =87} 2 24,000
- HoiJl DA 22,000, 0002 +27H 2 44,000
ORSHBUHITSALE 24 25,850
A S HI01D) 1,500, 0002 «3307H 4 *3% 14,850
~CCTV 4,000,002 =274 2 8,000
LD BB 500,0002! %674 2 3,000
03 Al& 2 CHb] 2,370 3.120 AT50
Ousd2BHdH ALRUbI
329,050, 00021 %0. 72/ 100 2,370
FRENEY () 296,167 252,811 43,356
201 Yer2et] 71,051 165,442 5,609
01 AtRa 2] 40,000 41,845 A1,845
O1.ge+2t| 29,840
-EWE A O 222 NN
4,000, 0002 4,000
A DHE RIS DX R0
15,000,000% 15,000
“FEM DHE WMo 223 7Y
7,000,002 7,000
SFET VHE QY P HEAS +4E8
10,000,000 +3. 2%+ 128 3,840
O4.1/=H| 4,000
SEUMEIT GAQ(9%) D=y (292,
o=.65, 2% S) 4,000, 0002 4,000
Os.22 6. 160
-0F2 EMFHI Sy 34
7,0002 8% x02 #1088 5,040
SINE ERENA BN ORA22X 3
& 7,000 582 202! 1,120
02 B2 31,051 123,507 7,454
O1.23RZLHA 106,920
-EUFEA BEE SBE 76,000,000 76,000




SN DESHD
HH: TANE B4 (X NS/HELS - ERSIIE)
Chel: TANSMS(ZTADSAMLEESIH) (ehel: =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
-DENCIEY MAZBZ 1,000,000 <2CH 2,000
-ARA U Boasod BRASA 23R
= 7,320
&dIIes 550,000& 128 6,600
TaotEE 60,0003 »12& 720
-R0o1H=E CCTV Sl AtE =S
200,000& »9CH+12& 21,600
O2.¢2H| 1,760
237 1, 1003 » 100 *8A| 2++2CH 1,760
O3. A& ZHI= Xt 15,100
-RolthEAEA 2H T2 RAES
270,000, 000& *3% 8,100
-—=HFEI = POA RAE4H|
40,000& x5CHx 128 2,400
-3 HER20 0SA XUE Jthiet RX2
==t 300,000& 10«12 3,600
“APRA F BARP ARA |l
1,000,000& 1,000
O4. Xtk et 7,271
-=& 2,635,000% = 1CH 2,635
-58(A¥) 4,636,000 «1CH 4,636
202 O4Hl 3,600 4,320 AT20
01 =LA bl 3,600 4,320 AT20
OSE=EX =AML
60,000 x3H x4 x53] 3,600
301 Ypt8azg 54,084 55,004 A920
09 BUAIRRIBLHS 54,084 55,004 2920
Ozd2ZRRE 54,084
-2 88,0003 12« 12& 12,672
- st 2,000 «12H +22 x 123 6,336
-SHAEZ U SHI 2,000& «12H +22 + 123 6,336
-S4l 5,000& x12H «22 » 12 15,840
-OF2t= Al 5,000& *6H 202 x 12 7,200
=285 140,000& 12 »23| 3,360
-2Et= 140,000 x12H *13] 1,680
=JIEH(OFZZ=TI) 25,000 x 12 =13 300
-EHe E=2dl 15,000 *12H »2 360
401 Al&HI YL S04 40,432 0 40,432
01 Al&H| 40,000 0 40,000
OolctEdtneH(M2e LE) &X
0,000, 000& *1JH 2~ 40,000
03 AIZ 204 432 0 432
ORel=Jtnct 4Xx1 R0
40,000,000 *1.08/100 432
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oF
R’

ok
ol

e

n0

KIo

Bl w

27,000
27,000

A 31,096
A 31,096

AT2,378

6,860
56

6,804

H3ar
uiled
RIS

38,625
38,625

474,813

233,669
37,020

196,649

=
o

s

<J

27,000
27,000
27,000

7,529
7,529
7,529
6,776

402,435

753

37,076
26,440
4,000
4,500

240,529

6,600
4,300
1,200
3,840
2,000
4,000
4,000
6,636
5,376
1,260
203,453

174,480
130,000
2,000
40,800

1,680
23,000

2l «1CH

=

=]

27,000,000

Bl

405 Kp&bs

or
X

R
K

35,2003 x3& 2 x325=

(=)

elals]
04 JIZHMIZE2XNSE =+

101

i

I+
Al

Ct
=

100
H

6,776,000 *11. 1%

2l

b

01 At

o

RO

4,000,000&
4,500,000

e Ruds DA e

Ok
Hr

4
ol
By

o
E

2|

e

2|

=}
[usd
=}

=

*20

9

o
[uind

2 %

6,600,000

4,300,000
100,000& «12&
1+ 8H 8L 12

7,000

[l

234l
o

7,000

=

Al
10,000,000& *3.

clAt R

b

il
e

=
=

2|

!
2

o
.

t

X
=2

S

(=
ol
—/

=
e
)
[=)

O5. =&l

O4.11=HI

30
OH
Mo
Mo

130,000,000
2,000,000&

200,000 «17CH =128

t=
|8 MBS

3

KAl
tek MIAIS

CCTV

Xl

20,000 *7CH*12&

1l
0

—PDA At
O3. Al Z ZHI = X4

Kk

5,000
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SN DESHD
HH: TANE B4 (X NS/HELS - ERSIIE)
tel: SANSMS(SARSMASESSIA) (ehel: =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
-POICHZAAEI(CCTV) RAIE=
200,000 ~6CH* 123 14,400
-ETHE JtoicH(cCTV) RN+
300,000& *1CH*12& 3,600
O4. Xtk et 5,973
-=g 2,635,000% «1CH 2,635
-3t= 3,338,000& «1CH 3,338
202 O4Hl 4,500 4,500 0
01 =LA b 4,500 4,500 0
OltiE Mgd+ dRF0H
60,000 x3ZH x5 x53] 4,500
301 LEtE A3 82,445 78,019 4,426
09 Z2UAIRRIBLHS 82,445 78,019 4,426
Osd2ZRRE 82,445
-Jl2=s 88,000& x20E x12& 21,120
- St 2,000 «20H »22 x 123 10,560
-SHAEZUSHI 2,000& «20H »22 x 123 10,560
-SAld| 5,000 «17H*»22L x 123 22,440
—-OF2t= Al 5,000& *8H 20 x 12 9,600
=285 140,000& 17 »23] 4,760
-2Et= 140,000& *17Z 13| 2,380
=JIEH(OFZZ=TI) 25,000 x17H =13 425
-EHe E=Edl 15,0003 20 2 600
401 Al&HI LS OHYI 40,432 120,000 AT79,568
01 Al&H| 40,000 120,000 280,000
Ofo==3ter Xl 40,000,000 104 A 40,000
03 AIE20bl 432 0 432
ORcEJtMHel £X1 A8 R0
40,000,000 *1.08/100 432
405 KHaHFESH| 27,000 0 27,000
01 T ESHSHI 27,000 0 27,000
OSYH=TI X (Yerss) Y
27,000,000 »1CH 27,000
ol g1l 223,103 267,230 ANA4 127
801 OllHIbl 223,103 267,230 ANA4 127
01 olldldl 223,103 267,230 N4 127
O A WEAY oldldl 223,103,000& 223,103
CHSESANAS(EX) 18,000 0 18,000
= 3,600
Al 14,400
301 EtEN = 18,000 0 18,000
= 3,600




SH: DERED
Ha: CADS BHSH(LSUYDE/HEDS - 25SIIEY
Ol CADSEAY(TARSALSES]) (s &)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
A 14,400
07 QI2teI= el 0fH| 18,000 0 18,000
ORHSHEAK 2% 3,000, 0002 *6% 18,000
= 3,600
Al 14,400
ol EXE o (+BUDS/HELS - SRSIIE) 9,879,441 4,080,675 5,798,766
A (SARSALSEE) 9,879,441 4,080,675 5,798,766
=R AL 22 58,808 28,808 30,000
201 Yer2g| 54,488 24,483 30,000
01 AtR2elt| 54,488 24,483 30,000
O1.ggr=gH| 1,800
~EANBXRY U ACDAM A2 R0
3002! %6, 0000 1,800
O5.2 | 2,688
SEANDALEE OFA2LK ZA
7,0002 +8 % +62 +83] 2,688
06.24xt & 50,000
“DEASYHIY HAMT UXE
100,0002! +10CH *502] 50,000
202 01t 4,320 4,320 0
NIETEE 4,320 4,320 0
OFXBLIAY HLEX 01|
60,0002 %33 *42! 63| 4,320
NIVETES=1=P InpAES~ 205,330 480,756 A275,426
401 AEHILS ] 205,330 480,756 ~275,426
01 Al&| 205,330 480,000 A274,670
OAZS AILIBA 3XX £X 0L
350,000 #2521 83,200
OINAHS AUBIA XX X 0L
70,0002 %959 67, 130
OMUHA SLIDX 24t
50,000,000 %14} 50,000
e RS T 790,638 77,490 713,148
201 Yer2g| 5,614 5,510 104
01 AtR2elt| 5,614 5,510 104
O1.2er2gH| 3,850
-BYFXE BT 450,00024 *43] 1,800
~DYRBEMNE MUUE 242
205,002 #1021 2,080
O5. 22| 1,764
~BYFAFBE OFA22R S4
7,0002 *4% %72 %93 1,764
202 01t 1,620 1,620 0

_12_




SN DEHZIY
M2 58X0 FIUF pe(+52LDE/HERS - 2RSIIE)
Sl EXNTAY (A RSALSHEH) (25l &2
MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol Ak O Blusz
01 2U0iHI 1,620 1,620 0
OBZYENZ 2l LL=0Y|
60,0002 32 x32 x33] 1,620
309 BILBNHES 783,404 0 783,404
02 BA- BHANFES 783,404 0 783,404
OBYENZ NEB2TY FHHES
783,404,000% 783,404
SRS R EIY 49,344 351,504 A302, 160
201 Yer2 Y| 49,344 49,344 0
01 A2l 49,344 49,344 0
O5. 22| 1,344
SDYENT TH ORA2ZLT B4
7,000 *4% x62 +83] 1,344
06.Y%2 48,000
~EE NUAEXE SNUNE
4,000,0002! +122 48,000
ECDE BYENZEY 5,445,560 1,238,560 4,207,000
401 AIEHIL2CH] 5,445,560 1,238,560 4,207,000
01 Al&t| 5,400,000 1,200,000 4,200,000
ECHNE TYENY T4 5,400,000
LI 3,400,000,00021 *14} 3,400,000
T A 2,000,000,00021 *14} 2,000,000
02 22!l 36,380 34,240 2,140
OSEABE BYENY I8 L2l
3,400,000,00021+1.07/100 36,380
03 Al&=H| 9,180 4,320 4,860
ECQBE IYFNT T8 ALY
3,400,000,00024+0.27/100 9,180
QHSH TANDX THIA 3,108,251 1,686,048 1,422,203
401 Al4HIL = 0] 3,108,251 1,686,048 1,422,203
01 Al&H] 3,055,602 1,680,000 1,375,692
O2# 2¢ ALIHA BLYXDA SXIZA
3,055,692, 00021 *14} 3,055,602
02 22!l 44,308 0 44,308
O2# 29 A2 IYXDX SXZA 2
21| 3,055,692,00021+1.45/100 44,308
03 Al& S H| 8,251 6,048 2,203
O 29 A2 IYXDX SXZA Al
ST 3,055,692,0002x0.27/100 8,251
R 221,510 217,509 4,001
801 0il bl bl 221,510 217,509 4,001
01 0ff il 221,510 217,509 4,001
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A USH
d: SE2H & 2e(=sYUE/HENS - SFSIIEHY
Chel R |REALS ) CR-E]
A SO (S H) - MSAY - BA= e =2t
OF=XHEAFY ool gl 221,510,000 221,510
HE2AHA SHA ) (DIEH/DIEH 374,317 340,017 34,300
q2Y LSAMEEESN) 199,072 197,652 1,420
& ol (EAIREAY) 180,789 177,376 3,413
101 180,789 177,376 3,413
02 B 180,789 177,376 3,413
(AMZ2HHI'OH' 3B:¢3) 79,713
13,559, 200& »4H 54,237
=22 3,280 *4H *10A| 2+ x 12 1,575
E 2,880
X 40,0003 *4H * 122 *80% 1,536
EFDI=E 20,000& *7H x12& *80% 1,344
8 X H| 105,000 *4H x 12& *80% 4,032
sty BEX 4G 1,944
St 51,990& x1H *43] 208
SsHM 433,880 x 1H x43| 1,736
= AlH| 130,000& »4H «12& 6,240
S A
790,950 x4 x1/226 Al 260 Al 2+ 840
I|ARES 71,748,000 *11.1% 7,965
AR 'O 2 :232) 97,206
13,559, 200& *5H 67,796
=24 3,280& *5H *10A| 2+x 12 1,968
Eg 3,840
Xt 40,0003 x5H =122 x80% 1,920
SPIES 20,000& *10H * 122 *80% 1,920
2 XH| 105,000 *5H x 12& *80% 5,040
=]l 130,000& x5H = 12& 7,800
2 AHH|
790,950 x5 1/226 Al 2H+60 Al 2t 1,050
“AUEEI|I2ARE2 87,494,000& *11.1% 9,712
OES8 =X &5 AIZEH AR I=H| 3,870
285 130,000 x9H 23| 2,340
-gists 130,000 »9H 1,170
==o\; 5,000& 9 45
-3t 35,000& *9H 315
SPHOUESHH(ZAINSAY) 18,283 20,276 A 1,993
101 2124 18,283 20,276 ~1,993
03 RIHAZ =X E > 18,283 20,276 A 1,993
OSHFTEI LOCHEASIA AP X (E2) 18,283
-Jlg= 29,010& »1H x313Y 9,081
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== S
HY2HZU(DSHZ ) (IIEH/IIE)
OIHSHHI(TAINSAIEEE S H) (A :H2)
SN HH . EP(BH) - A - BHAS Abod e HlDE2
203 9,081,0002 *1+1/12%300% 2,271
-HE SOt 9,081,000 * 1 +1/12%120% 909
-Z A Z A 80,0003 x1E+12& 960
-JtHE &I 50,0003 x1ZE*12& 600
-~wWE2 x| 30,0003 x1HE«12& 360
-IE=Y 60,0003 x1H~12& 720
ERGPNEI=S 29,0103 x1¥x15 436
=5 29,0103 x1¥ +52 1,509
“AZERI 2R Y 5,440« 1G +22 A 2tx 128 1,437
ZH(SA R SAMSSESIAH) 175,245 142,365 32,880
AN =23l 18,165 18,165 0
201 Lereoy| 18,165 18,165 0
01 AbR2t2lH| 16,285 16,285 0
ORME2E Let=Zl 4,660,000& 4,660
ORMZZE HLALZEH 5,550,000 5,550
ORM2E =l 6,075,000& 6,075
02 22=23H| 1,880 1,880 0
ORNMRE 2223 480,000 480
OSAMII, ZelH, ZAIESI| |24l
200,000& =7CH 1,400
PFTHL 152,880 120,000 32,880
202 044l 152,880 120,000 32,880
01 =LHA b 102,960 66,960 36,000
O F=RYRFT0NHl 20,0008 3011 +12& 79,200
OAMZERHIALE F=ASFE MY 23,760
= 20,0003 x4 B« 11 x 123 10,560
=7 20,0003 x5H 11«12 13,200
02 MY 49,920 53,040 A3,120
OFE XL 5P FHNMY| 49,920
= 260,000 x8E 12 24,960
=7 260,000 +8E 12 24,960
XY 4,200 4,200 0
203 A= 4,200 4,200 0
04 ENBILSF=EHI 4,200 4,200 0
OFRNSZLRFAH(HA:27H)
350,000& x12& 4,200
IS(NESdE M) (=32 UNE/HENS - 2F3SIIEH 20,000 20,000 0
NE(ZAINSASEESA) 20,000 20,000 0
tet = D1 EL 20,000 20,000 0
802 BtatzaJ|Et 20,000 20,000 0
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